Total No. of Printed Pagesi# 3 Examination October 2020

B.A. T.Y. (Sem-VI)
1204B Urban Sociology

Time: One Hour Max. Marks: 25

Instructions
Solve any 25 questions from Q.1 to Q.30

1 Who wrote the book," Urban Oriology"?

AT SATAATST AT JETF A FT AT
(A)E.B. Bargal (B)Mumford (C)Devis (D)Gilin and Gilin
.ar T HAHS sfam et sfor ferer
2 The culture of cities written by:
T FHea? o 0% HERT AT T A=wE
(A)Mumford (B)Robert Bierstedt (C)William sims Bainbridge (D)G.A. Theodorson
RS GRS femer FraErET
3 Which of the following is the cause of development of " town”?
HTATAT N A=A (ahraT= F0r FH0rer?
(A) Transportation (B)Industry and commerce (C)Education (D)AIl of the above
TSUESITET Frar IR AT T ST glaar Srerfura gfaem T q9

4 Who introduced “The Garden City Movement” about urban planing?
(A)Arasta (B)James silk ukingham (C)Kingsley Davis (D)Avenger
ey ST o T
5 In which community “social mobility” shows majority?
AT TIAOITeTar AoTedT FHETT A G ad.
(A)Rural (B)Urban (C)Anciant (D)Tribal
TR T ey AT
6 Which of the following “Family system” is characteristics of urban society?
AT FOET FET TEAT AT FHET AT o
(A)Joint family (B)Divid family (C)Matriachal (D)Multimarriage
SEEE) fervrerer GICERIED Tgfaamar
7 In which of the following community compact folk-society occures?
FTATATH AT FRITT &€ AR AR I
(A)Urban (B)Rural (C)Tribal (D)Hindu
T TR EICEIT feg
8 Which type of control occure in Urban commuity?
AT FHEITT AT SFE9 A0 @A I
(A)Compulsory (B)Religious (C)Informal (D)Formal
e Cltcy AT R A=
9 Which type of relation reflects in ubran community.

AT FHTAT HEo RO S BT I

(A)Primary (B) Selfish (C)Commercial (D)Second in command
FIDIEED Eart AT T

10 “ Slum Area” is the characteristics of which community.
HTISTZET HIVAT FHATET THEAT 3E

(A)Tribal (B)Rural (C)Urban (D)Commercial
HATRATT T o ATTETH®
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11 Which community is identified as sacred river of economic development?
AT (=T ST AT SHRITAT FHel S
(A)Rural (B)Wander (C)Ubran (D)Tribal
TTHT el AT AR
12 Which of the following state indicate maximum “Urban Population”?

FTATATRT AT ATREI= THTIT ST 6 T A0

(A)Maharashtra (B)Kerla (C)Goa (D)Uttar pradesh
HETSE Eacy e I TR

13 Which is the major problem in “Urban ARea” of the following?
AT VT Hg ced Jur SHEAT HOAT 318

(A) Employment (B)Development (C)Home (D)Money
TSI faarer ST T

14 Which is the largest population city in India?
FTATAT S TIMAT HATT e AT HFAA &L AV AT
(A)Chennai (B)Mumbai (C)Kolkata (D)Delhi
I qas FIARIAT foear
15 Which status indicate by “slum area” in Urban city?
HTTSIZET BT TR HaT T SI0TAT &Sl ool BRIT 28
(A)Senior/ltigher (B)Junior/lower (C)Medicum (D)Urban
ars FS Eery AT
16 Which of the following is not the characteristic of “Urban Community”?
[T IE7T ST F0Te JT9rser 1ar
(A) Differential in population (B)Artificiality (C)Close Relationship (D)Subjectivity
17 Human Freedam and male female equality is the characteristics of :

SFAT ETE AT S & THFT & HIedT G afrsesr 3

(A)Urban (B)Rural (C)Tribal (D)Anciant
quTr DIy EICEIT AR

18 Which of the following statement is false?
\TATATERT FOT (T G =8

(A)Verious Bords in urban (B)Formal relationship in urban (C)Ubran Community is the (D)IN urban community,
community community. center of crime. importance given to informal
NI ST fafay g AT ST AR S AN G e s control
AT AT SIS AT AT AT

RERIKIR A MRS

19 Expectation to work and its eligibility is called;

FH FIUIET ST 1Al A" AT FH e d ATar A1 FF Fgordara

(A) Employment (B)Below poverty (C)Employment Limitation (D)Unemployment
TR e TSNS gedst AT

20 Which of the following is not the impact of unemployment?
H[IATAT TRET TR ATar

(A)Growths in crime (B)Family corflict (C)Social Equality (D)Terriroism

21 “Un employment means ready to work and the person who expect to do work but fail to acchieve” Who wrote the
statement?

TR FEUTST I HLUITH THY AT T=ST ATAHT SAFAN AT STeaT 0 (Hesd ATar dear ar aal A9, & [T HI0m =18
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(A)P.F. Sarjent (B)Karl pribam

T, U A Fref ST
22 Dharavi slum located at:

HVTET ST Tl HCAT T 3
(A)Kolkata (B)Mumbai

FrCAFAT G CE

(C)Kingsley Devis

frTeT geae

(C)Hyderabad

T

23 Jawarlal Nehru Ntinal Urban reconstruction movement started in:

STATETATA AR & TSl d AT TR FARIT AT avt g% e

(A)3 Dec 2006 (B)3 Dec 2005

3 fRHAT 2008 3 REHET 200

24 Mono-Rail project started at:
AT AFN AT TEdT TaheT #e G ATAT

(A)Delhi (B)Mumbai
Sl qT<

25 Which of the following is not the type of un employment?
HFTATAT ARET HIOTAT TR ATaT

(A)Stable unemployment (B)Optional unemployment
P T T AT

26 Which is the bad -effect of industralization on rural life?
ST TIHTOET UTHTT STa=TaY TSeiedT §STRITTE Hiordr
(A)Mechanical farm busines

T AT SHaaT

(B)Preference to mechanical
education

RPUEERNE VIR ICIESE
27 Which of the folloing is not the type of polution?
FTATATT TEYUITET TR ATar
(A)Air Pollution.
ERIEES R

(B)Noise Pollution

ST TG

28 During Roman Imperial Which of the following is developed?

VAT THIT ST T=AT S HIET (aa SATAT
(A)Villages (B)Tribals
HETTET SATfRaTET

29 Which of the following is not harmful to air polintion.

FTATATEN FUTAT S 54T TFIVITAT FLUORIT ATar
(A)Drought

<

HAENT

(B) Industroy

AEET
30 The slym grea in chennai identified as:

IS (AET) T SIS TEETAT HeAT AT H(EEA ST
(A)Yeries (B)Zuggi

ERES T

iy

(C)3 Dec 2003
3 f5HaY 2003

(C)Chennai
EEEEY

(C)Un-optional unemployment

EEECALIEEIUE

(C)End of rural Intigration

TTHTOT TR o

(C)Water pollution
SR EALE

(C)States
=T

(C)Bomb

(C)Zopdi
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(D)Emile Durkhiem
T STETEH

(D)Chennai
Sk

(D)3 Dec 2004
3 f5&aT 2007

(D)Kolkata
FrAHAT

(D)Structural unemployment
HIFATCHE daT

(D)Urban Rural Migration
VETHST GSTHhs SIATaY

(D)Farm Business

ST ITINT

(D)Urbans
SITET

(D)Venhicles

e

(D)Basti



